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Capacity(R.L) tf 1,2,3,5,10, 20, 30, 50, 100, 200, 300
HAZ2(RO.) mv /V 2.0 +0.005/3.0 + 0.0075(for 200, 300 tf)
HE HHA mv/V 0.0+0.020
HN=EEA Hel E2 - A B
» OIX}/ OFXE}O] HIZIMY % R.0. <0.02 <0.05
Syt ! =5 e SIAE|A|A % R.0. <0.02 <0.05
T S ZiHRRI= ofj2f % R.0. <0.02 <0.05
> [P67 wtofl =t AA| Al=r %R.0. <0.01 <0.02
3E(308) % R.0. <0.03 <0.03
3 27(308) % R.0. <0.03 <0.03
A{EH A LOF =
SIEIALY = - <1/5000 <1/2000
> QIES HMME(ZE A= Ho|Z! EfR) =0 2t mv/V 0.0004 0.001
> Q=S HMMEI(RE HE, £ EFR)) com |~ S %/10°C <0.03 <0.03
- EHRIOFRHEE(Ey, =°° |-=4 %/10°C <0.03 <0.03
> | S—EXP/ERIOFMHEIE(EX g || C T4) TR o
> LS—EXP-D/UILHZ(Exd IIC T4) erbEer T oy siieet| v =
> LS—EXP-TD/EXIMZ(Ex tD A21 T135C IP68) T a 350435
» LS—NR (CEQIZ) X3t - St 0 350+35
— MAXS MQ > 2000
2L 2EHAHL C -10 to +40
AEE= S22z c -30 to +80
> SI, B3, AfUE A A Y EHAZ| - AL/ R
> QIEE/QUS AT = 4o {8 x 4P x 5m (10m) (PVC)
= 01 ALY i gtz (Urethane)
512 ntst %R.L. 150

HEZExZH

1~3tf 12 46 4 1415 8-97.1 972 M16X2
5tf 120 46 4 150.4 8-99 103.2 M18X1.5 5
10tf 138 60 " 170 8-g11 17.6 M24X2
20~30tf 184 80 21 1 % 68 2185 8-g14 157.6 M39X2
50tf 200 60 78 235 12-14.5 170 M45X3
100tf 278 90 20 3148 16-916.3 229 M70X3 10
200tf 355 108 35 3927 12-926 298 M90X3
300tf 355 108 35 3927 12-928 3005 M100X3
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